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
Time : 2 Hours        [Maximum Marks : 70

Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed in-

structions given therein. Candidates should limit their

answers to the questions on the given answer sheet.

No additional (B) answer sheet will be issued.

            

         





       

A-0480

A-0480 (1) P.T.O.



Section–A / 

(Long Answer Type Questions) /    

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. Explain the various components of business en-

vironment. Why it is necessary to study the busi-

ness environment ?



      



2. What are the main causes of Inflation in India ?

What measures are taken by the government to

control it in India ?
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          

        

   

3. Describe the concept of Regional Economic Inte-

grations. What are the different levels of Economic

Integration ? Explain.



        



4. What steps have been taken by Government of India

to attract foreign Direct Investment ? Explain them.

        

        



. Discuss the unemployment problems in India. What

measures are taken by the government to solve this

problem ?

(3) P.T.O.A-0480



        



Section–B / 

(Short-Answer-Type Questions) /    

Note : Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

     (4×8=32)

    (08)      

      (08)   

  (04)  

 

1. Discuss the importance of rural development in In-

dia.

      

2. What are the main features of GST ?

      

3. What do you understand by Economic Liberaliza-

tion?

(4)A-0480



(5)A-0480

      

4. Write a note on Micro-finance.

   

5. Mention the important contribution of Public Sector

Enterprises in India.

       

 

6. Explain the meaning and objectives of industrial

Licensing.

   

7. What do you understand by New Economic Policy,

what are its basic characteristics ?

         

  

8. Why Joint Ventures are created ?

     
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